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Jor the questions ‘

1. oo EIART W% Teach iR Sferear @ 1x5=5
Choose the correct answer from the
following :

(@) ©T© fm @weH mw i zqsf*
Grd™ ?

Which of the following hydrocarbons
shows -acidic nature? :
() CH;—CH=CH,
(i) CH,—C=C—H
(ifi) CH, — C=C—CHj
CHs

(iv)
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(2)

wofe il PO Yo @A Ra RSme e
o1t el w3 33 7
Which of the following groups behaves

as a meta-directing group when it is
present on benzene nucleus?

(i) —OH (i) —NO,
(ifi) —OCH, (iv) —NH,
TR SIKCER TR TS (=R T

The compound which is produced by
Williamson synthesis is

(i) @=%’%s / alcohol

(i) IXBT RS / carboxylic acid
(iii) 2I” / ether

(iv) @RS / aldehyde

e [ EREeEe Beom v RRMIGR
Ci e

The name of the reaction which
produces salicyldehyde from phenol is

(i) ¥'53 RFN / Kolbe’s reaction
(i) R Rfém / Stephan’s reduction
(iii) @xA3-5Fem RiEW / Reimer-Tiemann

reaction

(iv) SCAMSARERY / Oppenauer oxidation ~

( Contii.(i‘I /0)

3



(3)

(o) e fa @ ofien IR@EGRT R
Which of the followmg amines shows
carbylamine test?

(i) CH3—CH2—NH§

(i) N—H

O

(i) CHy—N—CHs
CH,3

o Oppen

UNIT—I

2. (o) RefA-2 @ oo fm Remes = R 3R
Teom (TR (qeIOR AW foran ;- ' 1x2=2
Write the products formed when

butene-2 reacts with the followmg
reagents :

() Og/Zn/acdis aR® (WTTo1RY)
* 03/Zn/acetic acid (ozonolysis)

(i) HBr /(&R 991G (Gf5-Tgeesy )
HBr/Organic peroxide (anti-
Markovnikov’s rule) :

P9/221 ( Turn:Quer )



(b)

(c)

(d)

() H—C=C—H

(4)

s frar RigmoR fFmRiR o - 2

Write the mechanism of the following
reaction :

CH; —CH, —Br+KOH (ale)——
CH, =CH, +KBr +H,0

TS A RS 71 (R et got) :  2x2=4
Convert the following (any two) :
() &S A AWA-1
Propane to propanol-1
(i) 2 ISR [ n-Rehy
Ethyl bromide to n-butane

(iij) <RERFFR | SRERR e

Acetylene to oxalic acid

Wﬁﬁﬂﬁﬁ’l‘j‘fﬂ(ﬁm%ﬁﬁ):
1x3=3

Complete the following reactions (any
three) : '

" Red hot
Iron tube

(ii) CH3—CH=CH, + HOC] —> ?
: Br Br

(iii) R—C—CI:—H +Zn
Br Br

alcohol
—_—

. Lindlar
(i) CHz—C=C—CH, + H, —ndlar’s

p9/221
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UNIT—II -

3. (o) Bo-aReN iR R e
. R it s 4 1+42=3

State Friedei-Crafts alkylation reaction
and explain its mechanism.

(b) FR RERFATER =od 391 (R Qe 7o) = 1x2=2

Complete the following reactions (any

two) : :
COONa
{i) -+ NaOH %—9—> ?

" conc. HSO, -
(i) @ %% .5
(i) @ +H, — 59

UNIT—III

4. (@) R RiEG-=df =1 oF TR fFERR
ferar : -

Complete the following reaction and
write down the mechanism :

2

R
|

R—(|J—Br +OH" —» P
R

P9/221 | . (Tum ober;
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(b)) @R (FIREER @R (RS
fearRte ofem REmh Ry @R
ST 7 IR A 3
Why are benzyl halides more reactive
than aryl halides towards nucleophilic
substitution reaction? Explain.

(c) =TS feaiam «Ress 1 (R e Rofiby)

' 2x3=6

Convert the following (any three) :
(i) 2 IR [T T2 24/

Ethyl bromide to diethyl ether
(i) SESTARTI [ ARz

Iodobenzene to biphenyl
(ifi) AAEA-23 /1 2-F° 9o

Propanol-2 to 2-chloropropane
(iv) RReToR RO 1 Reize 3R

Silver acetate to methyl bromide
UNIT—IV
5. (a) RFace wfde «f o@m | a1 1

Phenol shows acidic nature. Explain.

(b) BT RIS, @S AT,
@ISR AT IR ' awe o2
RS SR s | -
With the help of Grignard reagent how
can you prepare primary, secondary and

tertiary alcohol? Write the chemijcal
equation.

p9/221 ( Continued )
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(7)

woR RiERreR BRE Trmer I w0 (R
I ) : ox2=4
Explain the following reactions with the
help of suitable examples (any two) :
() TRI-z R

Houben-Hoesch reaction
(i) CBRGA-F5 RfeFm

Gatterman-Koch reaction
(iii) SR TRA

Oppénauer oxidation

o Ridas 7 791 (R e f3[) -

1x3=3
Complete the following reactions (any
three) :

NjcI-
. H3PO,
(i) T_) ?
OH
(ii) conc. HNO3 -

(iii) CH;—CH,—OH + I + NaOH (aq) —> ?
| LiAIH
(iv) CHz—C—CH; ——2%—5 7

( Turn Over)



(8)

UNIT—V -

6. (a)wwqwamﬁmqﬁﬁam
]I ‘ 2

Prepare aniline by  Hoffmann
degradation of benzamide.

(b) Wﬁ@ﬂﬁﬁﬂ"’i‘fﬂ(ﬁ@mﬁﬁﬁ)

1x3=3
Complete the following reactions (any
three) :
NHp
(i) +CH3—COCIL ?
Nici™

(i) Cu/HBr

: HN
(lll) . CH3—CH2—NH2 “02-) ?

(iv) Q Hg/Nl

P9/221 ( Continued )
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( Old Course )

Full Marks : 48
Pass Marks : 19
Time : 3 hours =
1. oS RIS oG Sedol Ak Sfexr : 1x5=5
Choose the correct answer from the

following :

(@) ﬁﬂm@:ﬁmaﬁﬁﬁwﬁwﬂﬁaw
R (==

Phenol may be converted into salicylic
acid by

(i) RR-GRe Rfe

Reimer-Tiemann reaction
(i) <eTea IAeeA R

aldol condensation reaction
(i) <=1 Rigm

Kolbe’s reaction

(iv) oo Rigm

Clemmensen reaction

(b) R EH W BR ARG IR
sEarER RFRF (R

The reagent required for conversion of
alkyl halide into ester is .

(i) TRAN LT

sodium alkoxide

P9/221 ( Turn Over)



(10)

(ii) Wﬁﬁ «fRes 2w s
sodium salt of carboxylic acid
(iii) TR ARG
alkyl cyanide
(iv) ST A
alkyl amine

(€ ©F° il QWG FTRTA @RS FINT
*RIPICHT (TRX? '
Which of the following alcohols shows ’
ferric chloride test?

( i) CH3;—CH;—OH

(ii) O_OH

H

(d) IdE R I RIET TR oM
RfeFch txr

Carbonyl compounds may be converted
to alkane by

() e ReRq

Clemmensen reduction

p9/221 . ( Continued )



(e)

2. (@)

P9/221

( 11 )

(i) - TeETge RERd
Rosenmund reduction
(iii) (ATHZA TSI
benzoin condensation
(iv) @RI GBS T
None of the above
oo fil Ol XA ARER IRy e
Rfer #R g’z Beom FRT2

Which of the following amines reacts
with nitrous acid to form alcohol?

CH,
(i) CH;—CH—NH,

H
(i) CH3—1!:—CH2—CH3
(iti) CH3—IIW—CH3

CH;
(iv) IiI—CH3
H
UNIT—I
word RfEFCH o 71 e frmRi o

1+2=3
Complete the following reaction and
write the mechanism of the reaction :
R
R—c::—on +8S0Cl; —> ?

R
( Turn Over)



( 12 )

(b) wae RAER RS T (R @1 gor) : 2x2=4

(c)

po/221

Convert the following (any two) :
(i) TEeTSR MBI °[1 RaiRe 3°9ie

Silver ethanoate to methyl bromide

(i) FIRRT [ IR
Chlorobenzene to biphenyl

(i) XA TS oM AR «fds

Ethyl bromide to propanoic acid

v fm RRER o = (R @
wIfG1) : o 1x4=4
Complete the following reactions (any

four) :

NzCI™
CuBr .
; —2T 5 9
) HBr

(if) CHy—CH,—Br + KOH (ale)——> 7

C
(iii) @ +Cl, —Fils—> ?

organic peroxide

(== iRy >?

(U) CH3—CH2—-OH + PCls —_—>7?

(iv) CH3—CH=CH, + HBr

( Continued )



(13)

UNIT—II

3. (o) TSGECTRA RGN Swe AReR, e

(b)

()

uE RRER TR e Qe N4
fdfg sl : 1+1+1=3

How can you distinguish between
primary, secondary and tertiary alcohols
with the help of dehydrogenation
reaction?

RFefm W’zﬂﬁﬁ@ TEeY NS e
REF o4%S A2 2

How can phenol be prepared with the
help of cumene hydroperoxide method?

ToRe TP o (R e «b) - 2
Write with the help of a suitable example
(any one) :

(i) SCATEHRT &9
Oppenauer oxidation

(i) P a-Faem Ridmn

Pinacol-pinacolone reaction

(d) R o Pele RS e ome 3Ry 1

P9/221

How can picric acid be Prepared from
phenol?

.( Turn Over)



(e)

4. (a)

po/221

(14)

wars faan RfEFAIR 7= 701 (R e )
1x2=2

Complete the following reactions (any

two) : o

. CH,—OH

0 | 04
CH,—OH

OH

(ii) ©+Zn —>7?

NiCI™

HAaPO
(iii) ———>é = ?

UNIT—III
e i REARE e T & frr (R
e fofb) 2x3=6

Describe the following reactions with
examples (any three) :

() &wm Rigm
Stephan’s reaction

(ii) Tore-Rega Rema R
Wolff-Kishner reduction reaction

(iii) oo Rfde

- Wittig reaction

(iv) fRgs Risw

Cannizzaro reaction

( Continued )
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(b) TS AR o1 SRewe 2r5fs forr (R een
) : 2x2=4
Write one synthetic preparation of the
following (any two) :

(i) ffis «fRe
Cinnamic acid -
(i) R «fee
Phthalic acid
(i) GRT

Benzophenone

© o fm RfFmER = = (R e
fofbr) : - 1x3=3
Complete the following reactions (any
three) :

red P

(i) CH3—COOH + Brg ———> ?

(i) CHz—CHO + I, + NaOH (ag) —> ?

~ PCl :
(ii) R—COOH ——>—> ?

R
. N Zn-Hg
w, = —>
(iv) R/c 0 conc. HCl- ?

UNIT—IV

5. (@ CReE e REFR RS @@ s
afiy orge RA? 9
How would you prepare ethylamine by
Gabriel phthalimide synthesis?
39,/221 ~ ( Turn Over)



(16 )

(b) FpaA SRR TS QT i,
@SR IF RRE R T e B
IRA1? . 3

How would you d1st1nguish among

primary, secondary and tertiary amines
with the help of Hinsberg test?

(c) oo1e fa SRR R 9T w6 SIS
TREW TN P 790 : 2

Predict the order of basicity of the
following amines in gaseous phase and
in aqueous phase :

(CH3)3N, (CH;3),NH, CH3—NH,, NHj

(d) were T RiEFam seepf 331 (R e )
A 1x2=2
Complete the following reactions (any
two) :
(i) CH3—CONH, + Br, + NaOH (aq)—> ?
H

.. H,0
(ii) +Bry —=—> 7
NH,

i) @ + CHCI, + KOH (alg) ——> 7

* %k K

p9—7000/221 3 SEM.TDC CHM G 1 (N/O)



